R T-13 B W B =58 A5 R B R A RN B R

5 R R AR L Koo FHE RAEHFE #iﬁ
50g/m’ L 300 90
100g/m’ L 1800 240
1 o S 4R SO, 200g/m? L 90 60
500g/m’ L 130 80
1000g/m? L 90 60
50g/m’ L 300 90
100g/m’ L 1500 240
200g/m’ L 90 60
500g/m’ L 490 260
2 tFHE S NO 900 g/m* L 160 16
1qnﬂgfm~* L 90 60 - i
60g/m? L 30 30
150g/m’ L 30 30
300g/m* L 30 30
500g/m’ L 150 30
. - 800g/m’ L 320 32
2500g/m? L 72 50
5000g/m’ L 30 30
4 o Sk C;Hg (7ppmg/m?) L 16 8
5 FE SR CHCl (25g/m?) L 16 8
6 S CaHe (900g/m?) L 340 106
7 P& S48 CeHis  (12ppmg/m*) L 16 8
T/ #%
3F ##
8 4518 44 ke 28 8 & EIT
I 1F
£
9 Tt i kg 625 50 T] #
10 LATEX AS55 Fg A fs & kg 56.25 5
11 kR251 fit A G & 7 kg 12 2 T #%
12 SH997 Fi A #5 & 7 kg 6 2 IF 4
13 7.8 C,HsOH L 116.25 16
14 # 8 HCI (37%) L 31.5 3
15 HiEE HaSO4 (98%) E 33 3
16 S E0E HF (47%) L 30 3 .
17 7.% CH;COOH L 20 2 ki
— 2F &tk
18 7B C3HO L 30 3 R
- g -
19 L= C;HO; L 10 2
20 5 A 8% C:H:0 L 30 3
21 B HNO3 L 60 6
22 #. 5 8 H,SiF, L 10 1
23 %%a t 62.4 2.6 .
24 PR { 69.6 4.4
25 Huh _ kg 180 18 o G
26 e R kg 180 18




R 71 FH B MBSO REEEE R

5 FA B £ # BAL FHRE RAEFE FRAE
1 weH E 1400 140
2 # 3 1400 140
3 i F & £ 1400 140
4 itk B £ 1400 140
5 fo 1 £ 1400 140
6 ELFE F 1400 140
7 R & 1400 140
8 o, 5 ] £ 1400 140
9 i, i AR E 1400 140
10 2 %3 1400 140
11 /L F A 8 % 1400 140
12 ﬁﬁﬁéﬁ = 1400 140 EF R
13 T 3 1400 140 Ak
14 AT B %3 1400 140
15 R E 1400 140
16 & i % 1400 140
17 T S 3 = 1400 140
18 FEEER E 1400 140
19 IR i S 1400 140

20 S £ 1400 140
21 WES E 1400 140
22 e 1B =3 1400 140
23 BEERE 23 1400 140
24 it A E 1400 140
25 F7 ) 81, 5 R £ 1400 140
26 S CO2 L 120 120
50g/m* L 300 90
100g/m’ L 1500 240
200g/m? L 90 60
27 #5065 fR NO 500g/m’ : il L
1000g/m* I; 90 60
60g/m* L 30 30

150g/m? L 30 30 SHE
300g/m? L 30 30
500g/m’ L 150 30
28 Sk CO 2500g/m? I; 30 30
5000g/m? L 30 30
50g/m* L 300 90
29 1 E A4k SO; 100g/m* L 1800 240
200g/m? L 90 60
500g/m? I; 90 60
1000g/m? L 90 60
30 FRES R O L 100 100




# 7-2 ZME VOC i EEE 5= REH#E

B J& A H 2 % BAr FRE RAEFE FHRTE

1 welF E 50 10

2 -] G 50 10

3 5 F i E 50 10

4 MG HLIER T 3 50 10

5 wTe 2 50 10

6 7B E 50 10

7 4= A7 3 E 50 10 T # 3F #
8 B i 3 50 10 4 B
9 it S 2% E 50 10

10 T3 25 E 50 10

11 FRITESR E 50 10

12 et 3 50 10

13 i % 50 10

14 o A im T E 50 10

15 ¥ S fE CHoClLy (25g/m®) L 16 8

16 PR S & CsHs (15g/m®) L 120 60

17 ¥ B S,k CHy L 300 150 SHE
18 & SR CeHig  (12g/m?) L 16 8

19 S CHs (7g/m?) L 16 8




R 7-3 FWE KBS RGEEE R R

B JE 2 #H AL FRE BATHE FHRAULE
| & R ¥ 170 20
2 T £ 170 20
3 #E & % 170 20
4 4747 &0 E 170 20
5 iR & - 3 170 20
6 7in 3 25 = 170 20
7 ER e BB, 254K £ 170 20
8 WE Tt E 170 20 e :
9 B % 170 20 LI asar T
o E
10 i £ 170 20
11 B, B 1R = 170 20
12 98 K S % 3 170 20
13 PVC #f f& 3 170 20
14 3k 38+ = 170 20
15 ST £ 170 20
16 AT E 170 20
17 HIF kg 1
18 & #E kg 50 5
19 COD #HE#EH L 1.5 0.15
20 AT A L 1.5 0.15




R 7-4 A E S AR B SRR B A R R

F B £ LR FRE KAEFE FHRTE
1 & BE £ 249600 20000
2 4% B E & £ 249600 20000
3 B E B 249600 20000
4 & B _fﬁ_:% ﬁ 249600 20000 i e
5 R AR £ 249600 20000
6 kR251 Bk Ak 4 7 kg 12 2
7 SH997 Bt 7 45 & 7l kg 6 2
8 HiF 22 kg 25 5
i I #% 2F
9 7.8 I 71.3 10 Fgn
10 #.4 He I 141 141
11 F.5 Ar L 141 141 SHE
12 A5 N2 I 500 50




F 7-5 A B[ ARBREG S EEAERERAR

F5 JE A ¥ 2 B B4y FRE RAEFE FHUE
1 wHA LR % 50400 5000
2 i 8 & % 50400 5000
3 o R 2 E 50400 5000
4 B, B () £ 50400 5000
5 B, B 4R £ 50400 5000
6 I 14 = 50400 5000 x
7 B £ 50400 5000 ol
8 o £ 50400 5000
9 HEELER £ 50400 5000
10 £l £ 50400 5000
11 iR i ke 1 1
12 o P 7 o L 50 5
13 A N2 L 500 50 SHRE




R 7-6 AW B[ REEEA~ R R

5 JE AT H 4 L Rina FHE RAEFE FRAE
I LATEX AS55 R A5 4 7 kg 56.25 5
2 it 4 kg 625 50
3 I g 250000 25000 T/ #3F #
4 HIEE A 550000 50000 -
5 i 45 11 % ] A 1650000 165000
6 H 1 3 7 L 50 5




R 77 AT B RETT EEAE R

FE JF A H & R AL FHE RATHFE FHELE
1 mEITES 7T £ 34000 3400
2 &R RE 3 34000 3400 T 4 3F ##
3 F4E 63 4800 480 o
4 18 72 kg 1 1
5 .5 N2 i 1000 100 SHE
R 78 AMEREEDRIAREZEEZEZEL~FERMAER
5 JE 84 A 4 FHE RAEFE FHAE
| W h AL AL 3 50 5
2 3 = AL B £ 50 5 MCT #iR % 15 3
3 R £ 50 5 FflE k& &
4 R E 50 5 X
5 waife R & 3 50 5




R 7-9 AT E ARSI = B A R AR

s JE A A4 B By | FRE BAEFE FHALE
1 #HE HCl (37%) L 31.5 3
2 % B H2S04 (98%) L 33 3
3 W E A Ha0; ¥ 30 3
4 2. %8 HF (47%) L 30 3
5 o F EE A 4E CiHi:NO L 30 3
6 % HiPOy L 60 6
7 B HNO; L 60 6
8 7 8 C3H:0 L 30 3
9 & 1#% NHF E 40 4
10 7.8 CH3;COOH L 20 2
11 BB B HLSiFs L 10 1
12 7,8 C;HsOH L 60 6
13 F1H Kl kg 15 5
14 P — F B S5 CHa(COOK)COOH) kg 2 1 T/ # 2F
15 & — 5.9 KH:PO4 kg 0.5 At & A
16 B Ak S — 40 Na;HPO4 kg 0.5
17 2 4.1t KOH kg 40 4
18 & 1b.#7 NaF kg 0.2 0.5
19 AL 58 KNO; kg 6 1
20 Bk 5% 411 C.HaNaO;, kg 0.2 0.5
21 =1 4 B2 57 KMnOq kg 1 1
22 4 NaxCa04 kg 0.5 0.5
23 8k R AgNO; L 0.5 0.5
24 B 4 4 NazS:0: kg 0.5 0.5
25 . 4.1k 4 NaOH kg 1 0.5
26 i % B 57 K5S205 kg 0.5 0.5
27 i B L 0.25 0.25
28 HL % kg 0.25 0.25
29 HEE C CeHsO¢ kg 0.5 0.5
30 1.3-Z%-1,1,2,2.3-E R A CHCLFs kg 0.5 0.5
31 A kg 0.5 0.5
32 WER B kg 0.5 0.5
33 - 2 0.5 0.5
34 BsH:0Na:O 7 L z 1
35 B RE F I CasHaaNgNasO16S4 L 0.2 0.1
36 M &S A ME CiHiNO L 30 3
37 F A CHz0 L 30 3
38 L. B C:HeO: L 10 2
39 BE#E £ K2SiOs L 5 |
40 N-F et 2 78 CsHoNO L 10 2
41 7.8 i CoH/NO L 5 1
42 £.5./4.5, Ho/He L 32 5
43 T 88 CeHzO4 kg 5 0.5
44 &, B HaTiFs kg 5 0.5
45 8,1k 8 FeCls kg 1 0.5
46 B 47 NaxSiOs ke 5 0.5
47 7. =8 CaH204 kg 10 1
48 o VB L E 0.1 0.01
49 A S & CHy I 80 40
50 o S co (2500g/m?) L 42 20
51 PR S 4F CaHg (15g/m?) L 60 30
52 74 S 4R NO (500g/m’) L 400 200 B
53 17 7% A1k S0, (500g/m®) L 40 20 W=
54 76 S COs I 50 30
55 A SR 02 L 80 40
56 ¥rHE SR N, L 80 40




# 7-10 AT H XGT o B E/F LB T EZER FHE

5 JE A A4 #R L Xiva FHE BHAEFE FRAE
1 B i 3 50 5 T
2 & i 10 10 XGT @2
R 7-11 AW BREREFHOHRNAEZEERHRBEE
s R R s & B4 FHE BRATHFE FHEAE
| HL i kg 180 18
7, i 8 e kg 180 18 i fg )
3 7 R A kg 210 21
4 i, t 69.6 4.4 —_—
5 % 3 1 62.4 2.6 L
6 g5 m’ 483.8 200 it & 35
P 4 A E R
7 A E m 3 3 -
17 % 5 {& He L 800 80 SHE
SR O, L 1600 160
10 I+ A AR N L 1200 120
11 T S CO2 I 160 16
12 o S 46 CaHy (900g/m?) L 160 16
13 17 5.k CHy4 L 160 16
14 SR NO (900g/m?) L 160 16
15 S E CO (800g/m?) L 320 32
xR 7-12 X EHAHIRARIEE RN ERMEE
55 R s FHE . B4 FHALE
1 V-05-WO1(MoQs3)/ TiO- £ 1, 7 0.1t/a o
- g EE A4+
> R tova | SREHRE | oowg, 1o
G Rt 0.2t/a o fo 5




